Using 2000 as the base period, compute a simple index of domestic sales for each year from 2000 until 2012. Interpret the trend in domestic sales.
[image: image1.png]Domestio Sales  International Sales  Employees
Year __(§ million) (6 million) (thousands)
2000 17,316 11,856 1009
2001 19,825 12492 1018
2002 22,455 13,843 1083
2003 25274 16,588 1106
2004 27,770 19578 1099
205 377 2,137 1156
2006 29775 22,549 122
2007 2444 28,651 1192
2008 2,309 31438 1187
2009 0,889 31,008 1155
2010 20437 2,124 1140
2011 28907 36,107 179
2012 29832 7371 1187





.:.

SOLUTION:
[image: image2.emf]Year 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012

Index (2000=100)114.5129.7146.0160.4163.9172.0187.4186.6178.4170.0166.9172.3


The domestic sales increased almost ninety percent between 2000 and 2007 and then decreased about 10 percent over the next five years.
